MALI091661 7= 5 B8 &0
REBI P

AT ERAT CRED A IR A DOR B S AR SCRF !

AN R SEAERAT R AR A (R fRIAR TR -

7= fh A4 FR FEmR T EHIR R
BT HRAT T 9B 8h R 571 HEANTF (2628 HK)
MALI1091661
MALI091661 W[ F- 2 (2318 HK)

T TURSR I IE RN A

77 oA 100 % B IR AT

#2013 42 12 A 31 H, =@k aT &k, RIAGE .

WA, BT EEAAR I E T (2628 HK)BANESS » SE Rz m 7 A5 BRI
RAFIEIL T, 7= EIHIRN 100 %64 7 A4

P BRT, AL H B IR RE

WA VRE B AE & T — 277 5 R i 15 BAMES %, VEIE1E S R AT

\)

NN IR N EARRISEN, A R TR DG A BAE R,
S, BERIRIRATE W AT &

TR TR AT AT B R FEL 800 820 8088 (ff H FHLEKERHE. I, &V KiFIMHLIX,
THIRIT 86-755-25892333) HEATHHICIE i

PR R BRATT TAE IS !

ETWRT CRED HRAF
2013412 H 31 H

&
=
P2
w
=i




BrAF -
7= i R 5 1E B

EHR R KBRF T EE

H % (2318 HK)
RREE

[k : S % 20134512/ )

&

UG EZ AR IR
K3k 76.5%
A 14.7%
SEH 8.8%
P35 H bRl 80.16

HEAFF (2628 HK)
RKEE

[ 5okl kIE: 2152013412 H )
CiEE BSEA R IITR

St 41.9%
S <] 51.6%
SEH 6.5%
FI3 H AR 25.2
SEMIE
HHRE PG HE AU M RIE Tt [6] S5 4
(2014.01.02) (HIga % (2014.01.08)
IBFNHE) %
S22 69.35 68.70 99.06%
PN 37.00 23.85 64.46% 92.60%
FHE A (2628 HK)
AR B

I LA RIS AR k55, 5%, 55 78 1 10 v T A R — 3. 36 = ZRIRE AR R 13912 0 N R T, HASEE T
o BB =B HE R ER0. 6%, RILPEIL TN . X2 H T R LL RNk D S 1B - M . %
201 34F 78 F 0 AN 316. 134270 N R i 5 22339, 4842 70 AR Ti o T LR 9 A2 AP 3G S 45 95 i 2 2 [ml T {12
ARG S 557 1A BT o ARHE 20 134E I H AR i & 2225, 28k (J523. 0i570) , AHAE T-20134F
FRAN I IS L. 4465 BBl S5SN8 . HEFRFILEE.

[EERERIE: 119512013412 1

#
N
b=
=
w
b=



WafE B A Z K5I W

1. AT TR S R 2 =D R SIS BT R BB T HRAT JSLAAIE . AT HRAT AR A 2 i
B AN 8 B AR AE AT 55 BT AT

2. ARSI EIFR G AR TR E N L BRI Hbn . WSRO0 Rp g /R4, FEAR R
P AN O AT R S A N B AR AR o BB I 06 AR SO (45 SRR AT SRS DA, 0 )
JS2 Y 5 =5 F MR (KR o XA B P A SO T i) — VIR 2R AT HRAT AR R A
.

3. SCAF AR TR R VAl A TN AR A SO BN RO R A, 2SR VA ST e
i 08 RN R i B

4. EATHRAT K SO . RIR A =] 53 B )7 T RES SO 4 A PR <l - CEROAR O et
TREHARAT AN ARFRR, BAEEBES SRR RN A RINEE . F54. BhfT
N BN < i B TR R 55 S B

#
w
b=
=
w
b=



